| Efficiency vs Dxy |

0.1

> -

< F : : : : : : : : :
ko) = : : : : : : : : :
@ 0.09 i
N R T T T R
§O.O8__----§.------‘é ------- E ------- E ------- E‘”””‘é“““é ------- E ------- é‘ ------

Q : : : : : : : : :
QO0.07[
T G St S S T
oo f
7| S . { 1" I T A
003

0.02
0.01

eff

0
1

Ratio

0.9

0.8

B T50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

| Efficiency vs Dz |

—e— DQM_TT__mkFit-DQM_mod-127

N 0.2
©
€0.18
oy
.5 0.16
(&)
£0.14
()
0.12
0.1
0.08
0.06

0.04

230 -20

20 30
TP dz (cm)

—=— DQM_TT__mkFit-DQM_original-0

—— DQM_TT__mkFit-DQM_mod_updatedmod-127



	Contents
	Page 1


